
Вариант 1
1. Найти значение корня:

а) .36,01625);2564,0);369  âá

2.Найти значение выражения:
а) .2712);3218);49040  âá

3. Вычислите:
а) 2222 8485);6011  á

4. Вынесите множитель из-под корня:
а) .53);45);28);11 422 ãõâáà

5.Внесите множитель под знак корня:

а) .8
2

1
);2);23);65 õãàâá 

Вариант 2
1. Найти значение корня:

а) .491625,0);8136,0);2516  âá

2.Найти значение выражения:
а) .483);328);25090  âá

3. Вычислите:
а) 2222 6061);158  á

4. Вынесите множитель из-под корня:
а) .23);16);75);2 5356 ãõâáà

5.Внесите множитель под знак корня:

    а) .27
3

1
);6);62);27 àãñâá 
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